SUPER TEST
BATCH

II, II-A

GBI : 120 Bt | UGS ST (100)

o

GENERAL ENGLISH (100) | ApTITUDE & MENTAL ABILITY (25) |@LIngI Sigfley (25)

A - Correct Degree,
B - A Thing of Beauty, C - Nehru
& Comprehension

S60E 4 : @pgiwnedler

Full Test N
upeonD LssorLnp

QurgSs1olp (100)

1. shSuTmp Geoeonss O\GILDIE SHEGTLDIS.
a) SAfwi eLWenT SIb OLWIHBLET GFiTgE ionmey
SIDBLIS SIS, omdert
b) gemwpsense aOLNmsT LD auNsme B8 AUDD)
BBSMT DCUSSIT
C) Geordlws senasmen SiNesSnsSeTTe
2_mISuuGsSSwelt HbCUSST
d) swsTWESH LDESENSSILLL DEESEDSSHTE
S6tTement JAMILETASSIS O\SMeTLauT HDBLISSIT
e) eflemL esfweiisoaneo
2.  Yeppwbm eumsHwid erg?
a) @i LTALLSSH T JHDWESFT SUGDLW &CETTE
&DHmIeoN GLDDEESTETOTLITT
b) @ wnawL 586 R SiewwssT Seurs) &GN SHmIeOT
GLDMHEE\STETOTLITIT
C) @@ wraLLsded @ Jlmwbssi WasGan® &shpeon
GLDDESTETOTLITIT
d) @i a8 @m SiemsEst Siaung) aGeTn® shmieor
GLDH&E\STETOTLITT
3. &6dllum eTetTenT RenE OILIDM) GUBLD?
a) sleTENGeomEnE b) gmmsGenems
C) SsaGonms d) eslLGeonens
e) efenL egMweiisoameo
4. sapm 1: LWREETE awsssHafsd ‘M &I el eeTededssr
SniBuied aunng).
gabml 2 : DWRIOETEN eTpSgISHee 6 DHmema OFTENISHS
S ulgyb SniHuleyid suHLD.
a) sapm 1 sam, 2 &
C) sapm 18, 2 sam)
e) eflemL esfweiisoaneo
5. &@abmi1: L e6iienib 61DSEI5HE (LI 65T euHLD.
Fabml 2 : M TEIENILD ETLPSSHIEHS (LPEDT 60T QUHLD.
a) eapm 1 sam, 2 & b) sapmi1, 2 &
c) sapm 1sM, 2 sam) d) sambmi 1, 2 seum)
e) efenL egMweiisdneo
6. eutmsSES.
A)  wsituesfg&meold

b) sabmi1, 2 &
d) sapm 1, 2 saum

2uud, sMigdHens

1
B) @enGauelihsmeoid 2. nd, urkigest
C) WetrLesfisammeod 3. d5Sewn, eweusnd
D) sefiismeod 4. s, o5
A B C D A B C D

a) 2 4 1 3 b) 4 1 2 3
0 4 3 2 1 d 2 3 1 4

7.  OUNGHSS 61FTE06HE0s SHETOTLINS
‘sfgeommusetmenilufesr’ Geumyeiwit
a) Gsenmebd b) EBEUTLILISAemED
C) YGrsmmsD d) ewswnmbssemn
e) efenL egMweiisdneo
8. mewmPlE aEmbamen BadHs S SN 2_6TaTens eSS
a) B sner aer JSWHS VCEHESET aHIM Fams
LM B
b) B snei ereir OABGRIAW HeGTLEHT 6N Fanl ApsA
SIEDLIBSTET
C) B Bl a6 AHGWIHS HEILIET a6 Samls sHGSTagLD
SNOLBSITEST
d) B sner a6t JSWHS BHETUGET 6D Fams
&HEHMeQLILIL L TedT
e) eflenL agfueiisosneo
9. sfulsoeonseaumemnms CaIMHe\SE.
1 OBnEdl - Hemed CUENETES60
2. glbewu - eeubpissns GUTTBHe0
3. 2 1flemep - GUIenT e1HITESH60
4. &nehdl - DB HNGH60
a) 2wr@Eb b) 2,3,4 c) 1.3, 4
d) oewemsgd ) sl Osfweisamen
10. eunEbBsTs SenerTEniLs: SHETLIS.
b) w&nebd - Wemenr
d) wERE - S

a) eLsib - LeGTLMID
C) bmi-euf
e) efenL egfwelisdneo
11. SissBememtiadt, LNSSmETEST c1GSEHETT UMSLILBLD?
a) 5,10 b) 6,1 c) 7.12
d s,13 e) eflenL egMwelisdsneo
12. smpSutienyp eveonss OSTLEDIS SHERTLDS.
a) sWhs sPU usfow AELISEHLEG abmei
uflgiomihseneoEnT
b) eseremen ENsgien seoamiuied Qemmiuseneo LulsTmeurt
uflgnhaeneoEnt
C) sWIPLLWIEYD DbfiaD &S ICTATSEDSS SULD
shIgseuT Ufdnhaemeoeht
d) sUipyeoewLWD SMAILTEL SDED O\STETREBHSTT
uflgiomhseneoEnt
e) eflenL egfweiisosneo
13. euepe & aempaebn ansdnismens Gsiey OFIs.
1 Simeumbeneruilest SHHHed Sievurenrmasuim)
86558
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14.

15.

16.

17.

18.

19.

20.

21.

2. Jleenrssmil HmIb Hensasmil eummiHGeoredt

3. gnpangsdeo genLlLD SEHSS

4. meeFll BeosHed eflwitemey fbd 2 emipsgnest

a) 1&2 b) 2&4 c¢) 3&4 d) 1&4

e) efemL egfweiisosneo

Fapml 1: AW - IHENLD, LI6TENLD ST6TTenLLLD GSM&HESLD
Fahm] 2: SIE06D - SHSHMIEWETITLI LIETEMLDEDUIS SNNEESLD

a) eapm 1sam, 2 &
C) sapm 1M, 2 sam)
e) efenL egMweiisdsneo

b) sabmi1, 2 &
d) sapmi 1, 2 seum

QUNEGEBeM(® OILIMHSSIDN6TT eflenerenil ReN6wrs:s :
A) saenp 1 cumEUIBST6
B) o@eme 2. Qsmlgnes
C) unewen 3. WPeLbSTET
D) Gsmusmil 4.  Geulbses
A B C D A B C D
a) 4 3 1 2 b) 4 3 2 1
¢ 3 4 1 2 d 3 4 2 1

e) eflemL esfweiisoaneo

@HEWLD - LIGSTEWLD LNeMPSATHN eUNSSWIhISHEneTd SevorLie:
1 @6uCleNH 2arigefleyd O\FHTMELSHSTLAL CILILIQ 2 _6Teng)
2. OBTOSMINILD 6T65TN) SE0SHSHET [HIT6d E1FTEMEMLDUITENS)]
3. @eaBam 2arflgyb QGTEESSHTLEAL LI 2 6Teng)

4. 6BTSMIIILD ETEDID Be0&HSH60T [HITED C\STESTEMLDIITES)|
a) 1&4 b) 2&4 c) 3&4 d) 1&4

e) eflemL egfweiisoeneo

SEUDITENT LD[IL|F6\FT606m60d BHiTeh

a) mb Neps - me®
b) @es Garusmis - awsms
C) eanepiiehs: - GINEDLDESHEFE

d) wporsi \es -
e) efenL egMweiisosneo

WP HRIENS AIDMLB

@HENLD-LITTENLD LNePSHATHD EUTSHBUIMBISEN6TS SHeTorL 1S
1. SpHEWIDSHET BEUSBLDIS RIS

2. &6t GanemsiLSSe0 Anflieoteumil GHSHESLD

3. OpHEMLDSH6T GEUBLDTS LT

4. pdse CaneTmIOILSS60 AMLSTL BHSSLD

a) 1whmub 3 b) 2 wihmib 3

C) 3 whmb 4 d) 1womib 4

e) eflemL egfweiisoaneo

S NS> SiLber GbLNmhis 66D OSMLled O&TFemFs
QEThHETS BG5S 61WPSIS

a) SN G DL SbLNThES

b) eliLd &b SiLbenLp eTetTLINTIS

C) LS IS HEHLIDEDL GTEITLITSET

d) UL NG SeHLIDEDD GETUNTTEHET

e) efenL egMwelisdsneo

alelp2_& Q\FTH&eTHN aIns&SLsSamss Csiie) &S :

a) ewusiurenfi srAUMISSE0 @RUIS

b) eemkfi sraummsde @rws

C) eeamEBiT sMbaTSSe QRWws

d) eeuswenfi smbaIsSe QrWws

e) eflenL egfweiisosneo

giflwnesr IS OSTLeMIS CaiTey O\FUIs:

1. sh&eilwe SHHEs snells OaNss SLbSS

2. sbEalLb SiHEs snefls@eiled SLbsg)

3. GaueomsT® SiHES LG LDHENSEHUIL LIMTEBES65
4. Gaueomsn® SiHGs MBS Fal'l HmSLI LIMTSEH6T

22.

23.

24,

25.

26.

27.

28.

29.

a) 1&3 b) 1&4 ¢
e) efenL egfweiisoeneo

284 d) 1&2

BIDSICTOTRIGET GTEOTLILIBOUG --vovvovreeeremeerene

a) Simib, euneT, etub, 66

b) eeuetorum, SpAfiwium, sedium, euepdrim

C) weurb, ysS, AGsid, HSHISTILD

d) eweusmLILILD, O&ETLLD, LMEh&mevld, LDN&SLD

e) efenL egMwelisdsneo

sahml 1: SUSSHIT e16TLCS &l. FUISGET 6160TM)I ETPSI6US)
Seum.

sapml 2 : BUWES, RLG, LI, QUM (PpSevTen eflenesraeit
euwiflenL [Bemeowinest [h eT6STLIEMNSLI QWIDM| EUHLD.

a) eapm 1sam, 2 &
c) sapm1sM, 2 saum)
e) eflemL egfweiisoeneo

b) sabmi1, 2 &
d) sambmi 1, 2 seum)

gflwnesreubenns CsIMH6S®

1 6B Di6bevd SIeTorCLI F(HS

2. Q\F6IEmen EETEID [HEHILD

3.  6l60TLDS60T

4. gpDESEEE e

a) 1,3,4 b) 2,3,4

e) efenL egMwelisdsneo

shSINemp B6veons ASTLDIS CHITs

a) ems sTesded Bmss SV EGL AUy WHMIS
So\Db5EI

b) srss sresded Bsssn FEL Apiy WHOS
BaDHBG

C)  erhs sTSS6 Bewa HUID EBD ALY WPHDIS SHDHSS!

d) smis s @messp G ADLWHD SERHSS!

e) eflenL egfwefisosneo

OUINBSSIS.

c) 1,234 d) 3,4

A)  Smwensan® 1 emsssdfsveuni
B) wLupwemeo 2. 1Bemmd

C) uwpEREOBIST 3. Geusnesonuib

D) omewissiefl 4. e@ssneseon

A B C D A B C D

a) 4 2 1 3 b) 1 3 2 4

c) 2 3 1 4 d 3 4 1 2

e) eflemL egfweiisoeneo

@HEMLD LI6TTEmLOLI LNeDPWIDD EISTLEDTE SHT6woTs.

a) sWpiseT iy BILGLEID, Weuest B GLab eunewilss
C\BNLITL] E\STETOTIRBIBESEVTIT

b) Hs5 LESsISMS LENGTET AGSTE6T CUATTSSTT

c) sVpisefiet ampsied Qs HApnbs SLSMSL
SubBlabser

d) SuwrhiEenlLLhEDTS GRHEMmSSET eI LMisSaTE

e) efenL egMwelisdsneo

sflwneneubenns CsIHeSE.

1 OpeumpE e\&mevedlement SL6TT OLMIGEO - eLPevSEam)

2. 2 605 QPSS ETIHMISHEIHTETETEO — ETSH6 HBIT

3. @louwnsgIl LWETLESSHID OFTHSET - LSLLIT

4. Gué&s AWNPERFTEOEmEOLI LILGTLBSEHIHE0 - HLDEWLD

a) 1,23, 4 b) 2,3,4 c) 12,4

d 13,4 e) eflenL egMweiisoaneo

OLINBHSNS 6\FTE0MEVS SHEToTL S :

HLED6VS GMSHHNS FHLODSE1FT60

c) yeworfl

a) euemeud b) upewex

d) &Suieo e) L agfweisemen
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30.

31.

32.

33.

34.

35.

36.

37.

38.

Production eeiip Sprudend Oemease ShsaTamibd
sflemLaearfled 18 Heummeng)?

b) efemeraunssid

d) epuss

a) seweoliLemLLIL

C) uesoTLID

e) el esfueiisoaneo

sflwnes bILS QSTLISmeT GSiTe] OFUIS:

1 A& QENEOULET STEnLD LDLemevd G155 6nEUSSITEI.

2. pEE BEMEOUILENT STeML Beweosemens GaTsg)
MEUSSIT6IT.

3. aprafed PMEOBEBLET QUMD BEME0HEMETE CFTGE
MEUSSITEDT

4. apriidled GeMESHEBLEIT CUTEMLY LDLEMEDE BHTSS| EHEUSHSTETT

a) 1&3 b) 1&2 «¢) 2&3 d) 3&4

e) eflemL egfweiisoaneo

aumufleb 2em@m HISTGe Geulews LHGMLIEUGLD

GamiLb eflewevtiiLiwesr - @rium_eopuies Like erenib Sprudieos

61&TEVAYIEHE@ BENETUTILITGTT SHLOLD E\FT60?

b) Speeo

d) seveur e) eflemL egfweiisoaneo

@60 GaumLN® SiMIbg! SfmenTl) AUTHEDET SiMGe0:

a) GaLes c) efgmLiub

il &
a) wnemew - &6om
b) sefimy - FHHSS0
c) smeww - GOMES
d) efluaumet - Gmme

e) eflemL esfueiisoaneo

FHPHINDLD B6060MS O\STLEDTE &H6vurL 16

a) Sevnwmmugsefleo SeIiLLD sl @erfl @6S

UL&&Hs LweTuGSEDS!

b) SewuLib asemeT SeTLITED FiTdhS6160608

C) &uim sLigelleb SetTemEnT LOMIES 2 DriidesTTesT

d) eslduLruseT eumuieons: Babeysener HLD
B8oUILESCCW &eurBs6laseomDd

e) eflemL esfweiisoeneo

Editor - estrughe Senewnwne S O\&Ted?

a) seweowmusD b) eemruLmissT

C) efleméasliuLLD d) epdafwn

e) eflemL esfweiisoaned

sflunesreubenns CsiHESE.

1. Beweoanmpl ©_ W17 & 6w 6voT I MUl SiewIbU|LD

OLIWITSESTEMSUTN6D 61U606016BTLD LBIGLD.
2. 2.1bemibs \FTm&UTEL eusdedleuD LS.
3. eNwrkiGsme eflenerpbmis OSMLIfled 6u6d6dlewTLD LSIEGLD.
4. QUWEOTEESSE0 u60E0l6TILD LB,

a) 2,4 b) 1,3 c) 1,3,4
d 2,34 e) eflenL egMweiisosneo
Pirate - aeip pdes EETOMGHES GHITET

BIDFaFTEOMES BHiHESBSHSHLD:
b) sLbeOsTeTEmETWIT
d) vewsb sLes

a) seflwenLeno
C) Sufwns aseoeud
e) efenL egMwelisdmeo
an&Sn GUTEGLLELINE| GIDTEHLIEd Up6h Listoreor GeuetoTLmb -
gflwne QMALOLWTSSILLL ans&Husmes seiorls
a) mepLLUIHA Qs bCLTE) AFeoGLISleniiL]
LW6eTLBSS GeuesorLbd
b) mepLLWIHE GUTGLELTE SiepeCUAWIL LWETLGSS
GeuetorLImLD

39.

40.

41.

42.

43.

44,

45.

€) mepLLUIDA BUTGLELITE AsmameGLAmWIL
LW6TLBSS GeuesorLibd

d) meLLulbhAuls Gurg SeamugeTd LWETLGSS
GeuetoTLmLD

e) efenL egMwelisdsneo

sflwuneeubenms CsHOS®.

1. Siflewey - 26-31 auwig)

2. ILDMhIeDS - 14-19 euwig)

3. 6ugbenu - 5-7 auwig)

4. GurlembeLietor - 30-40 euwig)

a) 1,24 b) 1.3, 4 c) 12

d) eagusedemeo e) eflenL egMweiisoeneo

@60 GaumILIMLMIBE OUMNEHS5I%

a) euemed 1 ewunmbg
b) euewen 2. &R
C) oo 3. Bibeveo
d) @emd 4. 1Serlp euemeo
A B C D A B C D

a) 1 4 2 3 b) 2 3 1 4

c) 4 1 2 3 d 31 4 2

e) efenL egfwelisdsneo

FHHU HNenpwibn OFTHODILIT 61817

a) Gumi Ganeolb LLETE QUbES LTSS CEFEDETERW &6TuTL
&S65T, [TTLDEMETT 61616V6V S(HS EUBSTEIT 6T60T) 6T600T6TvT 6TTTE0T

b) Gumis Gamevb LyeN® euIbSLI LITSEUEIE CFEUEDUIS SHEToTL
G560, GUMIDEDET 616160608 &H(HS eUHSTE 6T6iTm|
eTevOTenOflGUTITE0T

C) Gunis BaMEVLD LETT( QUIBS LTS6TE CEEDETEDIIS SHETTTL
G560, SIMDEMES 616ULEVEH &(HYP 6CUBSTENT eT6iTm
eTeuoTenflGuTTTEDT

d) Gunits; Gameold LLETIG EUbS LTSS GFENEUEDIL SHETorL
GS60T, SIMDEMET 616UDEVSH SH(HYP 6UBSMTENT eT6iTm
6T6TOT6TvT 6vTIT6BT

e) eflenL egfweiisoaneo

UpBHSIL Seosd 6FTOMED LIW6TLGS S 6US D& Tesr

©_grewonb?

a) eeflgGsisens b) Sibeno

e) eflenL egfweiisoeneo

C) eueveueiT
d) epevssam
sflunesreubenns CsIMHESE.

1. dwiysen - elwifenLs eFmeasEl e
GriTsaann eMwLiLs OSMLT SniHuleyid HEsHSS OSILT
aFnhaefles (peitenid sMLILSESN) eEHS6d GoustorBLD.

2. Grissmbmseigyb GomBsnerseflaybd SrenLs@m
aUBS60 Geuetor®LD.

a) 1rED b) 2wr@Eb c) 1&2

d) eagusedeneo e) sflenL egMweiisosneo

@60 GaumuTLMbg sflwer OUNmHeneTs Giis:

CUEDED cuener QuedLp
a) deopd amplLd  gleunmbd L{65T6m6DT LDLD
b) &6l amPlLid ueiTenTb GuemLP LDOLD
C) meu®amfb W 61563T6m6DT LDILD
d) opewesr amPLd  sL6d LIen6dT LDITLD

e) efenL egMwelisdneo

sabml 1: ‘@eueleun(p’ aTETEID H1FTEMEOWBSS! BTEBLD, &Haid
eT6tTLIGUT GLIT6D LI6TTEmLDE S\FMMHaGaT eur Geuetor(BLD.

Fgabm 2: T5SHENET CIETLIG] 61650160015 MBMWIS SN &HESLD
ETSSI6METI ETETTLIS] HATEMEULILD HTEOSHENSWILD GSMSHSLD.
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46.

47.

48.

49.

50.

51.

52.

53.

b) sapmi1, 2 &
d) sapmi 1, 2 seup

a) sapm 1sam, 2 &

c) sapm1sM, 2 saum)

e) eflenL egfweiisoaneo

&hdL LewpwHm OSILIT 6157

3) &EMS FIEDETEE TLHEHLMELI LSLY GNISSSMESS GSm6T

b) sGmss simaTsg gnsELMEOL LSLY GNISSSNEGSS
&sit

C) aGmses GIMMSE TDEHLOOLLSLRS GNISSSNSHEHE
GsiT

d) sGmas smeSE apeLmeLI SIS GNIHSSHISS GDeT

e) efenL egMwelisdsneo

Fabm 1: L6RTLSE\STens, 61l6netise\STensHILITS QUHLD Q\FTDHEH6IT

QB C1FITED ETEITEDILD HETTEMID E\HTEWTLEMEY. 6T6TTE6, DleUDEHD

fs5asWwss FaLngi

Fgabm 2: OLWTFO&FNe, efenendaaned SpSweauHnMn&

BemLuleo Beirm OLmBener Ogefleuns 2 ewrisd BHESLD

BewLsa\FNDHSHmT GFISHS 61D GeustorBLD.

a) sapm 1 sam, 2 &

c) sapm 1sM, 2 saum)

e) efenL egMweiisosneo

b) sabmi 1, 2 &
d) sappii. 2 seumy

@@HEMLDLI LissTemLDLI LNempWbHm OVSILIT 6187

a) Sieueir seflghetT Dlsveort

b) st sefepsir Senm

C) Sieueir seflighetT Di6oev6st

d) Sieuetr Sisvevsit seflleneit

e) eflenL egfweiisoeneo

‘sevsuemns g Bse BerlCs’

‘geveurt’ - 1601 E1FTEVENIETT SpRIBEOEEFTED

a) Sorrow full person b) Importer
¢) Violentperson d) Deceit full person
e) eflemL egfweiisoaneo

OUNBSSIS : STeuT & MmILIL|LI CILILITS6T

a) epruded 1 smeir
b) Geuiub 2. Fabhseo
C) &wab 3. sew
d) eamed 4. Qeweo

A B C D A B C D
a) 4 2 3 1 b) 2 1 4 3
c) 3 2 1 4 d 4 3 2 1
e) eflemL agfweiisoaneo
@60 GaumILING B FHwTesr OLTBET Hs.
a) efleom - Lopib, e - erayLbL
b) efleor- ergibLy, eflerm- eflenmiu
c) efleom-aieSlemip, eflerrm- &l
d) efleon-erayibLy, efemm-Lomid
e) efenL egfwelisdsneo
Bl Ga6TefiT HEDEOMT EueTTTTRIILI
aumuflevTiiT S4560 Sifig)
-@&GDruneiled ‘mewmidw’ - e6iTenID CIINHEHETTSSID
DhRIBE0E E1FTED

a) SILENCER b) INTELLIGENT
c) SIGNOR d) SILVER - TONGUED
Fgabm 1: SHMOFOFTDSHET ELGBOUTWD SESML

QLwITsemaGe @HSHSLD
Fabm 2: OUNB6T Mg OETHaEHHGL OLMHT FanieuGs
SisrnHuleir GrbmseLb

a) sapm 1 s, 2 & b) sabmi1, 2 &

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

c) sapm1sM, 2 saum) d) sambmi 1, 2 seum)
e) eflenL egfweiisoeneo

@60 GaumLn® AMHE sflwne QUTHemeT GsiTs.

Steorfl Seo)
b) -  &agsb

C) owmeamss a5y - UwWibgl Fassedll®

d) uwwid - a&ge

e) efenL egMwelisosneo

@60 GaumiumLMbg Ffwmestl QLIMEBemen 61LSIs%
QUTEMED - EUMEM6TT

a) @embeenr - LBetTaIENS
b) Bsireuems - @embeluetor  C)  beUHS - LBeiTENEDS
d) @embewesr - reIews e) eflenL asMwsficoemen
siflufleveonseunenns CsibOSBSSI 6TIDSIS-

1 SeuuTenOTelT QUBSTENT ~ EWIWIT euLpmBemen

2. B eumeunl - GLeupBemeo

3. 5D SE0&&H6ILD 618,56m6nT aUemSLILIBLD - sfl6ut eulpmBemen
4. 6\g6vefl LIMQeTTsiT - Hemevor eupBemen

a) 1,3,4 b) 1,24 c) 2,4 d) 1,4
e) efenL egfweiisdmeo

OUNBBETEDSS CoHBESE.

a) Sinssiie b) smpms c) Gadaet
d) yemdsi e) oL OsMueieoamen
OUNBBSTEDSS CoHESE.

a) s b) 2 enwp c) of

d) esbwed e) eflenL egMwelisdsneo

OUINBS5G15. @_6085551LD HBITE)

A) - umflso 1. 1995
B) sepameyt 2. 1974
C) wazeon 3. 1970
D) wmpliunesorid 4. 198f

A B C D A
a) 3 1 4 2 b) 3 2 1 4
c) 4 3 1 2 d 2 1 4 3
OUNGHST5DES C5HESE-
a) smeo b) aumens c) Sibysed
d) emsed e) eflenL egMwelisdsneo
SNGSBIWIT DTS 6T8,56m60T GLIMT?
a) s b) 10 c) 22
d 1 e) eflenL egMwelisdsneo
LDWEIOGTEN 6TpSGIssaT60 e1556m6sT 6T(SSISSHET C\FTe060l6s
6\FML&SLDNE 6U(HLD?

a) 1 b) 2 c) 3
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General English (100)

Directions : (1-30)

1.

Where is the line taken from ?

“My heart will keep the courage of the quest,

And hope the road’s last turn will be the best”.

a) Life

b) stopping by woods on a snowy

c) Nomen foreign

d) courage

e) Answer not known

“And quiet sleep and a sweet dream when the long
trick’s over.

a) A Tragic story b)
c) Your space d)
e) Answer not known
“Persistence is the key to everything”

a) lam Every woman b) Life

c) making life worth while d) Lessons in life

e) Answer not known

“For all nature looked gay”

For all nature looked gay”

a) The spider and the fly

b) The House on Elm Street

c) TheAntand the cricket

d) The secret of the machines

e) Answer not known

“But remember, Please the law by which we live”

a) No Men Are Foreign

b) The Secret of the Machines

c) TheComet

d) On Killing a Tree

e) Answer not known

“We are nothing more than children of your brain”.
a) The Secret of the Machines b) The Comet

c) My Computer needs a Break  d) Team work
e) Answer not known

“A labour not different form our own

a) No Men Are Foreign b) Team work

Sea Fever
The stick - together families

10.

11.

12.

13.

14.

15.

a) s b) se c) snev d) mes
e) efenL egfwelisdsneo
QUINBSS1S (Benssaanhaen)
A) emeng 1 2.®mal
B) Guewm 2. g
C) mud 3. Gumi&asEAwd
D) Segn 4. 96\6hs

A B C D A cC D
a) 4 2 1 3 b) 1 3 2 4
c 2 3 1 4 d 3 4 1 2
e) efenL egMwelisdsneo
c) The Stick - together families  d) courage

e) Answer not known

“By love In every land is common life

That all can recongnise and understand”

a) Life b) No Men Are Foreign

c) Thr River d) The Comet

e)  Answer not known

“Our hells of fire and dust outrage the innnocence
a) No Men Are Foreign b) Courage

c) Team work d) The House on Elm street.
e) Answer not known

How could this be?

a) The House on Elm street

b) A Poison Tree c) Lessons in Life

d) A Tragic story e) Answer not known
“I really don’t know”

| guess it will always be a mystery”

a) A Tragic Story b) The House on Elm street
c) your space d) sea fever

e) Answer not known

“And miles to go before | sleep

And miles to go before | sleep”

a) Stopping by woods on a snowy Evening

b) Thecomet c) The River

d) Life e) Answer not known
“Not so much pain will do it “

a) On Killing a Tree

b) A Poison Tree c) The House on Elm Street
d) No men are Foreign e) Answer not known
“It plays with your mind”.

a) The House on Elm street

b) The River

c) Thecomet

d) The secret of the machines

e) Answer not known

“Let us remember, whenever we are told

To hate our brothers, it is ourselves”.
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16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

a) The spider and the cricket
b) No men are foreign

c) The Antand thefly

d) Making life worth while

e) Answer not known

“A spectacle of a lifetime”

a) The stick - together families
c) TheComet

e) Answer not known

“Come you back unto the fireside and be comrade with
your kin”.

a) The stick - together Families

b) Nomen are foreign c) Tragic story

d) Special Hero e) Answer not known

“I Just wanted you to know”.

a) Special Hero

b) The spider and the fly

c) The Antand the cricket

d) The secret of the machines
e) Answer not known

“And heaven a surer heritage”.
a) Making life worth while

c) Life

e) Answer not known

“An endless fountain of immortal drink, Pouring unto
us from the heaven’s brink”.

a) Making life worth while

b) AThing of Beauty

c) Lessons in Life

d) The house on Elm street

e) Answer not known

“Having a friend is like planting a flower”.

a) Lessons in life b) No men are Foreign

c) Athingofbeauty d) The Antand the cricket

e) Answer not known

“The good, the joy, which it may bring, eternity shall
tell”.

a) Your Space b) The Comet c) The River
d) Life e) Answer not known

And all | ask is a merry yarn from a laughing follow
rover,

And quiet sleep and a sweet dream when the long
trick’s over.

a) SeaFever

b) From a Railway carriage

c) Stopping woods on a snowy evening

d) No men are foreign

e) Answer not known

“ A daring deed in a moment’s flash”.
a) Team work b) Courage

b) The River
d) Life

b) A Thing of Beauty
d) Thecomet

c) Thecomet

d) The river e) Answer not known
“It's the breath of life and a strong man’s creed”.
a) Courage b) Team work

c) The stick - together families d) A poison tree
e) Answer not known

“It’s all very well to have courage and skill”.

a) Courage b) Team work  c) Your space
d) Indian seasons e) Answer not known

“Each a glimpse and gone forever”.

a) From a Railway carriage b) Team work

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

c) Lessons in life

e) Answer not known
“And though his efforts never slack”.

a) A Tragic story b) A Poison Tree

d) A thing of Beauty

c) On killing a Tree d) Life

e) Answer not known

“Spring is pretty

but short and sweet”.

a) Indian seasons b) The River

c) Life d) AThing of Beauty

e) Answer not known

“It’s written in victory and defeat”.

a) Courage b) AThing of Beauty

c) Team work d) A Tragic story

e) Answer not known

Which one of the following is a correct sentence:

a) Kannan is more tall than Raja

b) Kannan is not more tall than Raja

c) Kannan is not taller to Raja

d) Kannan is taller than Raja

e) Answer not known

Identify the superlative degree

a) This is worse than any other book I have read.

b) This is the worst book that | have read

c) This is not so a bad book, as any other book

d) Shakespeare is a popular dramatist.

e) Answer not known

Identify the positive degree

a) Americais richer than any other country.

b) No other country is as rich as America.

c) America is richer than India.

d) India is richer than China.

e) Answer not known

Identify the comparative degree

a) Ram is the worst fellow that | have ever come
across.

b) Ram is worse than any other fellow than | have
come across.

c) No other fellow that | have come across is as bad
as Ram

d) Ram is very bad when compared with other

e) Answer not known

Identify the sentence which is in the superlative degree.

a) This street is busier than any other street in the
area

b) Sheriff is as tall as his brother

c) The street is the busiest one in the area

d) Your pencil is sharper than mine

e) Answer not known

Use the positive degree of comparison in the follow-

ing: Japan is one of the wealthiest countries in Asia.

a) Japan is as wealthy as any other country in Asia.

b) Japanis not so wealthy as other countries in Asia.

c) No other country in Asia is so wealthy as Japan.

d) Very few countries in Asia are as wealthy as Japan.

e) Answer not known

Identify the sentence which is in the superlative de-

gree.

a) All his colleagues are senior to him

b) The nearest railway station is two kilometers from
here
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38.

39.

40.

41.

42.

43,

44.

45.

46.

c) My knife is sharper than yours

d) Of the two evils, choose the less

e) Answer not known

Select the correct sentence:

a) Cakes are softer than cookies

b) Cakes are more soft than cookies

c) Cakes are softer then cookies

d) Cakes are soft than cookies

e) Answer not known

Identify the sentence which is in the positive

degree:

a) This is a big problem

b) The latter chapters are lacking in interest

c) Rama’s intelligence is superior to Hari’s

d) He is junior to all his colleagues.

e) Answer not known

Identify the superlative degree in the sentences given

below :

a) Mr. Robertson is more helpful than most other
persons

b) Mr. Robertson is helpfuller than other persons

c) Mr. Robertson is one of the most helpful persons

d) Very few persons are as helpful as Mr. Robertson

e) Answer not known

Transform the following sentence into comparative

degree.

Wordsworth is one of the greatest English poets.

a) Wordsworth is greater than many other English
poets

b) Very few English poets are as great as Wordsworth

c) No other English poet is as great as Wordsworth

d) Wordsworth is greater than any other English poet

e) Answer not known

Nehru Jailed for the first time in

Non-cooperation movement.

a) 1921 b) 1922 c) 1923

d) 1920 e) Answer not known

Identify the sentence that contains the Superlative form

of the adjective.

a) Mr. Soundar is one of the most helpful persons

b) Very few persons are as helpful as Mr. Soundar

c) Mr. Soundar is more helpful than most other
persons

d) No other street in this area is as busy as this one

e) Answer not known

Identify the positive degree

a) The Ganges is the longest river in India.

b) The Ganges is longer than any other river in India.

c) No other river in India is as long as the Ganges.

d) The Godavari is not longer than the Ganges.

e) Answer not known

Identify the comparative degree

a) Chennaiis the hottest city in Tamil Nadu

b) Chennaiis hotter than any other city in Tamil Nadu.

c) Chennaiis not as hot as Hyderabad.

d) Hyderabad is equally hot

e) Answer not known

Identify the positive degree

a) Sheela is as beautiful as Mala

b) Mala is more beautiful than Sheela

c) Mala is not more beautiful than Sheela

for advocating

47.

48.

49.

50.

51.

52.

53.

54.

d) Sheela is the most beautiful girl.
e) Answer not known
Identify the correct Degree. Prabu is one of the most
helpful persons
a) Positive
c) Comparative
e) Answer not known
Identify the sentence which is in the comparative de-
gree
a) Make less noise
b) The soldiers ran to defend the outer wall
c) Some poets are as great as Keats
d) InIndia, no other exercise is as healthy as walking
e) Answer not known
Match column A with column B and select the correct
code given below :
Column A
(a) The elephant is bigger
than any other animal
(b) No other pen is as costly

b) Superlative
d) None of the above

ColumnB

1. superlative

as parker 2. comparative
(c) Akbar was the greatest

mughal king 3. positive
(d) Silk is not so rough as cotton 4. positive

A B C D A B C D
a) 4 2 1 3 b) 2 4 1 3
¢ 3 2 41 d 3 4 1 2

e)  Answer not known
Identify the correct degree : Very few cities in India are
(populous) Mumbai.

a) as populous as b) more populous than

c) the most populous d) Most populous than

e) Answer not known

Identify the superlative degree

a) Gold is costlier than any other metal.

b) No other metal is as costly as gold

c) Gold is the costliest metal.

d) Gold is costlier than silver

e) Answer not known

Identify the comparative degree

a) lron is not so costly as any other metal.

b) Iron is not costlier than most other metals

c) lIron is the cheapest metal.

d) Silver is not so costly as gold.

e) Answer not known

Identify the positive degree

a) Rajaraja Cholan was the most efficient ruler in
the Chola dynasty

b) No other Chola ruler was as efficient as Rajaraja
Cholan in the Chola dynasty.

c) Rajaraja Cholan was more efficient than any other
ruler in the Chola dynasty.

d) Rajaraja Cholan was one of the efficient rulers

e) Answer not known

Identify the superlative degree

a) Appleis the sweetest fruit

b) Apple is sweeter than any other fruit

c) No other fruit is as sweet as apple

d) Apples are sweet to taste.

e) Answer not known
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55. Identify the sentence with the superlative degree of
the adjective :

a) No one else is as courageous as him

b) He is one of the most courageous persons

c) Heis more courageous than most other people

d) Very few people are as courageous as him

e) Answer not known
56. Identify the positive degree

a) New Delhi is the most congested city in India

b) New Delhi is more congested than any other city

in India.

c) No other city is as congested as New Delhi.

d) Mumbai is not congested as Newyork.

e) Answer not known
Comprehension ( 57 - 62)

Bungee jumping is an activity that involves jumping
from a tall structure while connected to a long elastic cord.
The tall structure is usually a fixed object, such as a building,
bridge or crane; but it is also possible to jump from a
movable object, such as a hot-air-balloon or helicopter, that
has the ability to hover above the ground. The thrill comes
from the free-falling and the rebound. When the person
jumps, the cord stretches and the jumper flies upwards
again as the cord recoils, and continues to oscillate up and
down until all the kinetic energy is dissipated.

Jumping Heights, located in Mohan Chatti village, in
Rishikesh has been rated as one of the most preferred
bungee jumping destinations in India at a height of 83
meters. It is the only place in India where bungee jumping
can be done from a fixed platform. This is also India’s only
fixed platform Bungee- performed from a professional
cantilever, to separate it from entertainment parks, and
create instead, an extreme adventure zone. The Bungee
has been designed by David Allardice of New Zealand.

The Cantilever platform is built over a rocky cliff over-
looking the river Hall, a tributary of River Ganges. Bungee-
ing amidst the vastness of nature lends the experience an
absolutely breathtaking quality. Jumping heights is well
known for its safety measures and experienced staff. It costs
around Rs 2500 per jump, a bit expensive, but totally worth
the experience. The Bungee jumping experience has been
set amidst the astoundingly stunning landscape of Rishikesh.
To Bungee jump, one must be at least 12 years and should
weigh between 40-110 kg.

57. What is Bungee Jumping?

a) An activity that involves walking

b) An activity that involves jumping

c) An activity that involves fighting

d) An activity that involves learning

e) Answer not known
58. Can Bungee be performed from a movable object?

How?

a) From air balloon b)

c) From helicopter d)

e) Answer not known
59. When do you thing Bungee becomes trilling?

a) Walking on the platform

b) Climbing up the stairs

c) Travelling to the height

d) Free falling

e) Answer not known

From rock
Both (a) and (c)

60. What is the experience when one falls off the plat-

form?
a) Sad b) Hope c) Thrill
d) Anger e) Answer not known

61. Where is the Bungee Jumping point located in India?

a) New zealand b) Ganges

c) Mohan chatti village d) Everest

e) Answer not known
62. What is the minimum age to Bungee Jump?

a) 12 b) 14 c) 16

d) 18 e) Answer not known
Comprehension ( 63 - 69)

Charlie Chaplin was born on April 16, 1889, in London
England. His birth name was Charles Spencer Chaplin,
though he had many nicknames growing up such as Charlie,
Charlot, and The Little Tramp. His father, Charles Chaplin,
and his mother, Hannah Chaplin, were inducted into the
music hall of fame, leading the way to his exposure even as
a young boy. His first onstage moment was when he was 5
years old; he sang a song that was intended to be sung by
his own mother; she had become ill at the time of the
performance, so little Charlie Chaplin stood instead and
performed for his mother.Charlie Chaplin came to the United
States in 1910, at the age of 21. He was brought to New
York, which was known to be a great place to start out for
anyone trying to become a professional actor. Two years
later, in 1913, Chaplin signed his very first contract at
Keystone and it was no time before he headed to Hollywood.
His first movie premiered in 1914, “Making a Living,” and
went on to make over 35 movies total in that year alone.
Charlie Chaplin grew to become one of the most popular
and successful actors of all time. The moment that really
kicked off his long career was in 1921 when he starred in,
and produced, his fi rst full length fi Im called “The Kid.”
From then on, most people all over the world knew Charlie
Chaplin and loved his movies. He had a great career and
life, dying on December 25, 1977, in Vevey, Switzerland. He
had apparently died of natural causes in his sleep from
old age.

63. When was Chaplin born on?

a) April 16, 1889 b) April 16, 1888

c) April 6, 1889 d) April 6, 1888

e) Answer not known
64. Where was Chaplin born at?

a) London b) Manchester c) Liverpool

d) Newcastle e) Answer not known
65. What was the birth name?

a) Spencer chaplin b) Charlie c) Tramp

d) Charlot e) Answer not known
66. Choose the nicknames of Chaplin?

a) Charles chaplin  b) Spencer chaplin

c) Charles d) Charlot

e) Answer not known
67. When was his on stage moment happened?

a) When he was 2 years old

b) When he was 5 years old

c) When he was 10 years old

d) When he was 21 years old

e) Answer not known
68. What was the name of Chaplin’s I'* Movie?

a) Thekid b) Making a living
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

a) most clever as

c) Make a living d) The kids

e) Answer not known

Name of the full length ?Im which he starred a

produced in?

a) Thekid b) Making a living

c) Make a living d) The kids

e) Answer not known

Complete the sentence : No other girl in the class is

Kamala.

b) more clever as

c) as clever as d) most cleverest

e) Answer not known

Identify the sentence which is in the superlative de-

gree

a) Come as soon as possible

b) She is senior to all her colleagues

c) Tajmahal is one of the most beautiful buildings

d) Itisindeed a major problem

e) Answer not known

Identify the superlative degree of comparison

a) Many people are not so helpful as Mr. Soundar

b) Mr. Soundar is one of the most helpful persons

c) Mr. Soundar is more helpful than most other
persons

d) Very few persons are as helpful as Mr. Soundar

e) Answer not known

Identify the correct degree : Dina’s pencil is

(sharp) than Caroline.

a) sharper b) as sharp as ¢) more sharp

d) sharpest e) Answer not known

Identify the positive degree

a) A car can go faster than a bike.

b) A bike cannot go as fast as a car.

¢) The plane is the fastest.z

d) The ship is not the fastest.

e) Answer not known

Identify the comparative degree

a) Mohan is the cleverest boy.

b) Mohan is not as clever as |.

c) Mohan is cleverer than any other boy

d) No other boy is an clever as Mohan.

e) Answer not known

Identify the superlative degree

a) Computer is one of the most useful inventions

b) Computer is more useful than most other
inventions.

c) Very few inventions are as useful as Computer

d) Computer is as good as any other machine.

e) Answer not known

Identify the correct degree. Usha Riran is not the tall-

est of all the buildings in the city.

a) Positive b) Both aandc c) Comparative

d) Superlative e) Answer not known

Identify the comparative degree

a) Shakespeare was the greatest dramatist of

England.

b) Shakespeare was greater than any other dramatist
of England

c) No other dramatist of England was as great as
Shakespeare

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

d) Kalidasa was equally great

e) Answer not known

Identify the positive degree

a) Very few girls are as smart as Abitha in the class.

b) Abitha is the smartest girl in the class.

c) Abithaissmarter than most other girls in the class.

d) Abitha is smarter than Veena

e) Answer not known

Identify the superlative degree

a) History is not so interesting as Geography.

b) History is the most interesting subject

c) History is more interesting than any other subject

d) English is more popular than Hindi.

e) Answer not known

Identify the comparative degree

a) Mumbai is larger than most other cities in India.

b) Mumbai is one of the largest cities in India

c) Very few cities in India are as large as Mumbai

d) Chennai is not so large as Mumbai

e) Answer not known

Identify the sentence which positive degree.’

a) His age is a matter of little importance.

b) This is the most perfect specimen | have seen.

c) The last time | saw him, he was in high spirits.

d) The longest lane has a turning.

e) Answer not known

Identify the positive degree

a) Krishna is the richest boy in the class.

b) Krishna is richer than any other boy in the class.

c) Krishna is not the richest boy in the class.

d) No other boy is as rich as Krishna in the class

e) - Answernot known

Identify the superlative degree

a) The elephant is one of the largest animals

b) The elephant is larger than any other animal.

c) Very few animals are as large as the elephant.

d) Elephant is stronger than most other animals.

e) Answer not known

Identify the degree of comparison. Iron is more useful

than any other metal.

a) positive b) comparative

c) superlative d) none ofthe above

e) Answer not known

Identify the comparative degree

a) The Moon is the nearest planet.

b) The Moon is nearer than any other planet.

c) No other planet is as near as the Mon

d) The Moon is not so big as the Earth

e) Answer not known

Identify the positive degree

a) Maduraiis one of the most popular cities in India.

b) Madurai is more popular than most other cities
in India

c) Very few cities are as popular 'as Madurai in India.

d) Madurai is not more popular than other cities in
India

e) Answer not known

Identify the correct degree .. No other metal is as use-

ful as iron.

a) Comparative b) Positive c¢) Superlative

d) Noneofthese e) Answernotknown
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89.

90.

91.

92.

93.

94.

101.

102.

103.

Identify the comparative degree
a) The Empire State building is higher than most other

buildings.

b) Very few buildings are as high as the Empire State
building

c) No other building is as high as the Empire State
Building.

d) This is not one of the tallest buildings

e) Answer not known

Use the correct degree in the blank. Your pencil is
(sharp) than mine.

a) as sharp as b) more sharp ¢) more sharper

d) sharper e) Answer not known
Gandhi made Nehru his political heir in

a) 1942 b) 1941 c) 1940
d) 1943 e) Answer not known

Find out the correct sentence .

a) Very few buildings in this street are taller than this
b) The cream cake is most expensive of the plain cake
c) Raja is one of the tallest boys in this group

d) Ravi is more capabable as the other boys

e) Answer not known

1929 Midnight New Year’s Eve - Nehru hoisted Tricolour
flag on the banks of the river .
a) Indusin Lahore b) Raviin Lahore

c) Sutlej in Lahore d) Beas in Lahore

e) Answer not known

Identify the comparative degree

a) This was the most difficult question.

b) This was more difficult than any other question.
c) No other question was as difficult as this.

d) This is not a difficult question

e) Answer not known

95.

96.

97.

98.

99.

100.

Nehru emerged as an eminent leader and served India
as Prime Minister from its independence to

a) 1962 b) 1963 c) 1964

d) 1965 e) Answer not known

Change the following sentence into comparative : The
apple is not so sweet as the mango

a) The mango is sweeter than the apple

b) The apple is sweeter than the mango

c) The mango is not sweeter than the apple

d) The apple is more sweet than the mango

e) Answer not known

Nehru first met Gandhi in 1916 - session.

a) Mumbai b) Chennai c) Pune

d) Lucknow e) Answer not known

Identify the sentence which is in the comparative de-
gree:

a) Tennyson is not the greatest of all Poets

b) Some Poets are atleast as great as Tennyson

c) Tennyson is not greater than some other Poets

d) Tennyson is the great Poet

e) Answer not known

Nehru was Awarded Bharat Ratna in .

a) 1954 b) 1955 c) 1956

d) 1957 e) Answer not known

Find out the appropriate Superlative degree for the
following sentence :

Very few boys in the class are as tall as Ramu.

a) Ramu is the tallest boy in the class.

b) Ramu is a tall boy in the class.

c) Ramu is one of the tallest boys in the class.

d) No other boy in the class is as tall as Ramu .

e) Answer not known

ATPTITUDE (25)

Direction : Choose the missing term out of the given
alternatives./ efiGULL 2 miiewLs S is
C4X, FoU, 116R, ?

a) K25P b) L25P ¢) L250 d)
e) Answer not known / eflenL a\sflwsisosmeo
The amount if the compound interest is calculated
quarterly, is found using the formula

oL BEULIQUINEBIS]| HTEONETIIBEHOST(H (LPEDD SHETTSSLLILILLITED,

L27P

OsnensedW __ a6ty HSSTHMFL LweTLGSHSS
SHTEUUTEONLD
r 4n r 3n
a) A=P(1+7j b) A=P (14—*]
400 300
r 2n r 3n
c) A=P(1+—j d) A=P[1+—J
200 400

e) Answer not known / eflenL a\sflwsisosmen
Ferozkhan collects Rs.1150 at the rate of Rs. 25 per
head from his classmates on account of the 'Flag Day'
in his school and returns Rs. 8 to each one of them, as
instructed by his teacher. Find the amount handed
over by him to his teacher.

104.

105.

asmedansms weiralll Gl OUGTTEVETET S6iT aIGLILS
GampissT @ataun@afiLaplbd Seor ¢h.25 s AMSSHID
05.1150 eugelladpner. Spafwienr APeymssedeuig,
ReuOaN®p GLLSSWD ab.8 SHULS smSpren eefle,
SpffwLD QULEDLESSS O\STEnsUTEnesTs: STeuors.

a) 742 b) 762 c) 772 d) 782

e) Answer not known / eflenL aigflwsficosmeo

The marked price of new brand watch is 15% higher
than its original price. Due to increase in demand,
the price is further increased by 10%. How much profit
will be obtained in selling the watch ?

@® Y spasnisden GNss eNemed G 2_ewremld
sflemevemwl 6flL 15% P&, G SHHetT CHemeuenuiL
OUNBSSI BerBLD 10% iBs flemeoGuiHmd OFUILILILILLT6D,
S5 HREMSMS DG CUNE HMLSEGD CIDNSS 6omLILD
ETeU6UETEY FH6EHFID ?

a) 25% b) 35% c) 26.5% d)
e) Answer not known / eflenL aisflwsficoemen
Find S _for each of the geometric series described be-
low:a=2,t,=486,n=6

a=2,t =486, n =6 e eeurhisens 6\setor

27%

UGHSS OBl S &6 smeus
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106

a) 364 b) 468 ¢) 728 d) 1028
e) Answer not known / eflenL aisflwsflcosmen

.On bicycle a man cover 5 km in 20 minutes. How long

he can goin 50 minutes ? (in km)

wlSeuctoripuiled 5 B.15. HISews RHeuT 20 BILGS60 sLSSOT,
aevfled 50 BUAILGBHED DieulT eTeveuaTe) FNOLD O\Feoeurt ? @.15 )
a) 105 b) 12 c) 125 d) 135

e) Answer not known / eflenL a\sfwsfisoemeo

Direction (107) : Study the following arrangement carefully

and

answer the questions given below:

aflasnp (107) : £6p Q&M@EsHsLULL aflmsamw Spuley O1FUIF

GaLsUULL Ga6TellsEnad ehn LiPe Sleflssab

107

108

109.

110.

111

RESDAPS3TIQ79B#2K%U1MW4 % J8N

.How many such vowels are there in the above ar-

rangement, each of which is immediately followed
by a number but notimmediately preceded by a con-
sonant?

a) None b) One c) Two
d) Three e) Answernot known
GopserL O TLHled eassemenr 2 ulll  TWSHIHS6T

REUCGUTETMILD ETETTHET LNTOSTLAHS UIBLDMMILD, DpevTTed
QWD 6T(PSS (LPETT SHEWMDWIMSEUTMILD ©_6iTerTenT?

Retim) c) Sueu®

sflewL Q\5iflweedened

a) egeyieoeneo  b)
d) epsirm e)

.A man spends 40% of his income for food, 15% for

clothes and 20% for house rent and saves the rest. If

his income is 34,400, find the amount of his savings.

RMBOUT H65T UBLIISHOD 40% 2 ewaysHnHe b, 15%

2 _L&ESNEHEYD, 20% 6B CUTLEDHESTEHEYLD 615606 BA6TDIT.

bBemws GFLGESeTDMT. el euIBLDTeNTLD ¢h. 34400 erevfled

SieuT eTev6uaTeY GFLISBESTDMT?

a) ¥8600 b) T9600 c) T10500d) 7500

e) Answer not known / eflenL a\sfwsflsoemed

Insert the missing number 4, -8, 16, -32, 64, (.....)

ABULL etetoTemenor Galisa 4, -8, 16, -32, 64, (.....)

a) 128 b) -128 c) 192 d) -192

e) Answer not known / eflenL a\isfwsfisoemeo

The 104 term and 4™ term of an A.P. are 125 and 0.

Find the first term.

b FaLBS OFnLiauflenauler 104 eugl 2 miliL| HMID 4 eug)

2_miiysst wpewpCu 125 wHmID O. AiSaSMLTeuflewsuiledr

WPFHE0 2_MIIEHLIS SHTE00TS.
-15 5

N 10
a3 3 ) 12 6

e) Answer not known / eflenL aisfwsfisoemeo

-16
d —

c) 7

. Choose the box that is similar to the box formed from

the given sheet of paper (X).
QSMBEHBLILILL LGNS LISHEHLUITE LDIRSSITE0 SHLDS6TITLeUDMI6T
a8l Fflung QUTHHSILD.

e

9]

Ll

(a)

@ &

(b)

—d

(d)

(c)

112.

113.

a) 1&4only/wreb
c) 3only/wr@b

b) 2&3only/wr@Eb

d) 2&4only/weeb

e) Answer not known / eflenL aigflwsficosmen

6 women or 8 men can construct a room in 86 days.
How long will it take for 7 women and 5 men to do
the same type of room?

6 QUEIIHET DIED6VG 8 LSBT RN HeMMEOWD 86
Brenserled SLle WpRLILIT. g CUTENTD HEDMEMI! 7 CILIETITSHET
IDHMILD 5 SHLETTSHET HLIQ (LIRS 615SEME [HTETEHST Sh@SLD.

a) 48 b) 36 c) 30 d) 40

e) Answer not known / eflenL a\sfwsflsoemeo

If a number x is 10% less than another numberyand
y is 10% more than 125, then x is equal to :

@H X 61631 616307 LDHEYDIT(H 6T650T Y- 6fl. 10% G6mMeY. DHMILD
Y eretor 125-22 6fl 10% HPSLD eT6nfled, X -65T LDSLIL| eT6dTEnT?

a) 123.75 b)140.55 «c) 143 d) 150

e) Answer not known / eflenL a\sfwsflsoemeo

114.Find the missing number

115.

N@LLL 6T600TEm600TE: SHITEH0TSH

1 7] [@]_[z] [s
@ E 3 O E

a) 10 b) 12 ¢ 14 d) 16

e) Answer not known / eflenL a\sfwsfisoemeo

The Lateral Surface area and Total Surface area of
the cube having side 24cm are respectively.

a) 3204 cm? 4365cm? b) 4302 cm? 6534 cm?

c) 2304 cm? 3456cm? d) 2340 cm? 5634 cm?

e) Answer not known

uss Serey 2465.15 2 LW R HETESHTSS6 LDLILITIL|

3]

33

LDMMILD GIDMGSLI LITLIL| 6T6dTLIS (LpemdmGU
a) 3204 qs.18? 4365 Q&.15°

b) 4302 65.18% 6534 615.15°

C) 2304 q&.15? 3456 6&.15°

d) 2340 6s.152 5634 a5.152

e) eflenL egMweiisoeneo

116.Arun lent ¥ 5,000 to Balaji for 2 years and ¥ 3,000 to

Charles for 4 years on simple interest at the same
rate of interest and received 3 2,200 in all from both
of them as interest. Find the rate of interest per year.
DImeTT eTeiTLeT Lmeongd eTeTLOIBHS 5,000 @ 2
SHTBHERHGID FNiievey aeTLUAIBSS <3,0008 4
AETBSHEHSEGD RCT Ferlleul e 6isSH6d euprudenTi. Sy
QUDIESLDNS X 2,200 £ EULIQIITE SiBET DI er6ufled, euL'lp
ci556mSE H6is.

a) 10% b) 20% c) 30% d) 25%

e) Answer not known / eflenL a\sfwsfisoemeo

117.If the difference between compound interest and

simple interest for 3 years at the rate of 10% p.a is¥
155 then the principle is

aABLSSDG 10% eaillp 855860 sal@ aLRsGL Seof
QILIR&GLDNEN eAGHTELD APTHIEGTBSEHHS <X 155 eresfled
SDlg6oNesIg)

a) 3000 b) 4000 «¢) 5000 d) 6000

e) Answer not known / eflenL a\sfwsfisoemeo
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118.A cone of height 9 cm with diameter of its base 18cm

119.

120.

121.

126.

127.

is carved out from a wooden solid sphere of radius
9cm. The percentage of the wood wasted is

1861&.15 JeliLns eALLApLD, 961&.15 2 wreplb 2 ewLw R
&b, 961&.15 SHOb O\&snelL SL WIGHTETSH60 RBHE!
2 Banss ILEADE). sienm@Ld wrssie) eeieeTey?

a) 25% b)251% c)50% d) 75%

e) Answer not known / eflenL a\sflwsfisoemeo

The inner circumference of a circular race track, 14 m
wide, is 440m. Find the radius of the outer circle (in m)
14 BLLT SiseopemLwWw Q@b euLLLDTen @GUTmSUlNel 2 6T
&bmerey 440 BLLT SpGb eeuafl aur LSS DpuSHmss
sesors. (151 Lifled)

a) 85 b) 84 c) 70 d) 80

e) Answer not known / eflenL a\sflwstisoemeo

A tap can fill a tank in 6 hours. After half the tank is
filled, three more similar taps are opened. What is
the total time taken to fill the tank completely?

a) 3 hrs 15 min b) 3 hrs45min

c) 4hrs d) 4hrs15min

e) Answer not known / eflenL a\sflwsisosmeo

R OSMLIRedW @@ GLM BIliu 6 wewnfl ChID SHBmE.
agmigew und Brbllw WP , AHCs Guneip 3 V55
GLMUS6T $D&HSILESEDE. W OSMLRWD BIbL Dp@&LD
6WDN&S GIBILD eTeueusTey?

a)3wewl 158 b) 3 wewdd5HB ) 4 wewf

d) 4wenfl 1518 €) efevL agMwsileoeneo

Cricket player Dhoni’s average in first 30 matches
was 72 runs. After 31 match, his average raised as
73 runs. How many runs did he make in 31 match?
SiseaL efimm GLTerlluf6ir wpsed 30 Dbl L MISHEHSHSTEN SOmaii
QUL (runs) 72 erens: HEUTSELILLRHESS. 316U ] SpLLLD
BemLAWLDHD L6tT e BenLw FTmsfl QULID 73 Sps 2 Wiibsg)
eT6afle0 31 DpeugI Shi'LES60 e TBSSMmHES PLLMIST (runs)
560607

a) 100 b) 103 «¢) 74 d) 108

e) Answer not known / eflenL aigflwsficoemen

122.The area of the largest circle, that can be drawn in-

123.

124.

125.

side a rectangle with sides 18cm by 14cm, is:(in cm?)
ROG TGS LUsSHSHT 18 618.15, 14 61515 G eni6n
Bhésssmw WsL eufw eurLgdeir Lriy?(61&.15° 60)
a)49 b) 154 c) 378 d) 1078

e) Answer not known / eflenL a\sfwsfisoemeo

A real estate owner had two plots, a square plot of
side 39 m and a rectangular plot of dimensions 100 m
length and 64 m breadth. He sells both these and
acquires a new square plot of the same area. What is
the length of side of his new plot? (m)

LDEwEUTUT6ET E\EFMBSSSMIT UBHEUT, 3O LSS SieTeys: E\STewTL
QB FHIT DENETU|D, 10018 Berdpd 6415 DE6oUpLd C\STeTITL
QH 61561618 LDENEDTIL|LD 6T63T 2 LDENETS:6IT 6DEUSH[BIHSTIT. Seweu
SuetorenLu|lb efHm], Sieut UBSNs HCs LnLiLieTeiled Qb FHIT
LMW QUMRIGHEDNT 6Teslled, SHeumewLw UHw &ZHT
eneuTudleT LIs Sleey eretrenr? (L5)

a) 89 b) 81 c) 99 d) 91

e) Answer not known / eflenL a\sflwisficoemeo
Evaluate/ w&i snesors.

i) (50 +6'1)33

30> b) 31> 28> d) 32:
a) 307 ) 315 o 283 ) 32,

e) Answer not known / eflenL aisfwsfisoemeo

Vishal deposited Rs.200 per month for 5 years in a
recurring deposit account in a post office. If he re-
ceived Rs.13,830. Find the rate of interest.

sflepmed QeuOUTH NS FlOusH5HMID aHr2008R RN
SlEHFE0HSHE0 5 SHEBHEHEHS 61FHS UbFMT (Lpigsfled Sieurt
13,830 QWDHDT eTevfl6d 6uL'le 6fiHID eT63T60I?

a) 6% b) 8% c) 8% d) 9%

e) Answer not known / eflenL aigflwsficosmen

General Studies (25)

Who among the following is incorrectly matched

a) Lothal - Dr. S.R. Rao
b) Rangpur - M.S. Vats
c) Rupar - Y.D. Sharma

d) Dolavirra -
e) Answer not known
NetTeu(peueTauHmI6T SUMNS  EILIMIBHSUl6TETEN TS DTS

R.D. Banerjee

SHETTLNNS.

a) Geomgsed -  LA&LIT.6T60.DbiT. g6y
b) prswLT - eTb.6T6N0. 6uML 6N

C) emumit - ULl &M

d) Gsmeoefign -  Spiilp. LNedTTed

e) eleL asfwesdened

Choose the correct statement among the following

statement

1. The south frontier of Indus valley civilisation was
Alamgirpur

2. There were many evidences that the people of

128.

Indus valley Civilisation had more places of
worship around Harappa

a) lonly b) 2 only c) 1&2

d) None e) eflenL agfweiicosmnen

L9 6076 (LD FaHMIs s 6rfled Fiflwmeor Fa DM en 6w 5
G5ITH6\5[B&&6]LD.

1. dbg Foeeael preafsgder O5MHE eaeemeoOWns
OLeOLDSLYT efleTrhiBuig).

2. dibg sweesfl b&sET amplurenel  &MbjlujsiTer
uedsafieo Beppw euflUTLGS Seomisener 61&mewr®
dletrudet e6TLUENS DMUSHS L6 FTETMIS6IT
SMLESF.

a) 1oLEwD b) 2 @b c) 1&2

d) asiieemeo e) eflenL agfweiicosmnen

Who among the following rulers of Guptas was called

“Sakraditya”?

a) Chandragupta - |

¢) Kumargupta

e) Answer not known

b) Chandragupta - Il
d) Samudra gupta - |
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129.

130

131

132

133

FHIMHSBWIT 6T6iTN SHeWPSSHLILLL 196iTauBD SLSH GUITET
winm?

a) wseonbd FHATGLIST b) @nemb spdrelis
¢) eLUGLST d) wpseomd sapsSrGLST
e) eflenL ezMwesbemen

A plough tax paid by every cultivator owning a plough
during gupta empire was knonwas __ ?

a) Udianga b) Uparikara c) Halivakara
d) Sulka e) Answer not known

OFMBSHIONE  HEOLIDLSEDET O\SHTNRBBES AHDeTd S
2 _pariseflss 55 GLUST sMesHe sldasiurL seolienu eurf
STEUEUM) HEDPSHSLILILLE)I?

a) o Swrusn b) 2 ufson c) amedeusmm
d) sevan e) eflewL agfwsfleoeneo
.Arya deva and Arya Asanga of the gupta period or

the most notable

a) Writers b) Poets

c¢) Medical Scientist d) Magicians

e) Answer not known

SpMlwBseut wHMID Spfw SpFmmsT GursimeuT GLSIT
SME0GHHE0 QUMLDHS LSDOIDD «.ovoveveveverencncnnnnnes

a)  ewpssnemi b) yeoeurt

C) ESsI ANNeMd HEhiT

d) omueiisemss s e) v agfwsfieoeneo

.Find the incorrect statements.

1. The Navanitakam was the vertinary science work
authored by Palakapya.

2. Susrutha was the first Indian to explain the
process of surgery.

a) 1lonly b) 2 only c) 1&2

d) None e) Answer not known

Seupnes sapnlenens; CsiH6\&B&SE]LD.

1 papssb eaeug  deone @ APeNuassTs
LIT60&STLIEMLIWIT 6T63TLIGUTTE0 6T(LPSLILILL &)

2. @nduneled  Jmewer  HBFms  wpewmulemenr
WPSetTLpemDUNsd eflenBul GBHWIT SFEVBST Sp6eurit.

a) 1wrED b) 2 @b c) 1&2

d) easiedemeo e) sflenL egMweiedeneo

.Match the following :
Dynasties Places
1) Tomaras - Malwa
2) Solankis - Gujarath
3) Gahadavalas - Delhi
4) Paramaras - Kanaj

A B C D A B C D
a) 3 4 2 1 b)) 4 2 1 3
c) 3 2 4 1 d 4 1 2 3
e) Answer not known
SIDSHEILOUNEDOLI OLITHSE!S.

Gups: UGSs6lT

A) Ggmompissit 1. Lbmebeum
B) Gsmeommudwiiseir 2. GRS
C) sasaneiser 3. 16066
D) umwpngiigeit 4. SeiTenIR

e) efewL agMwsiieosmneo

.Which sultan founded the second ilbari dynasty?

a) Qutb-ud-din-Aibak b) Iltumish

c) Balban d) Raziya Sultana

e) Answer not known

BuevorLmeug) Geounl eubssms BHiefiLl &e0HTesT WImi?
a) ©sl 28 St BUs b) @eogse

C) umeoLest d) pdw m seozmen

e) eflenL ezMwesbemen

134.What was the literaline work of amir khusvau about
the victories of Jalal-ud-din khalji in persian?
a) Tabaqat-i-Nasiri b) Mifta ul futuh
¢) Khazan ul futuh d) Shams-i-siraj Afit
e) Answer not known
RevmeySeir Heozdl eureombemmLI LD ST Gsrvgpefletr LMTEs
QWM LewLLIL| 61817
a) suns-s5-G-mAM b) WelsT-2_c-8u8
C) anseiT-2 60-SL8 d) smb-@-drez-SheiLi
e) eflenL egMwesbemen

135.Who was nominated as successor of Sultan Ala-ud-

din khalji?
a) Malik Kafur b) Khizr Khan
c¢) Khusraushah d) Mubarak Shah

e) Answer not known
&E0F M6 JlevmeySHeir H0edHG IHBSF Seunmed eunfans
BuSSLILIL LT WTiT?
a) nedls-aLy b) &di-amnetr C) @svmagn
d) pungs een e) eflewL egfwsfleosneo
136.Who one among the following was not a successor of
Raziya Sultana?
a) Bahram Shah b) Allah-ud-din-Shah
c) Allaudin Masud d) Nasiruddin Mahmud
e) Answer not known
rAwn seognevmefledr eumfia: LetTeucheueTTOUDMIST WM @(HeuIT

Sie0evIT?
a) LS egm b) Siconeydeir e
C)  SieoneySen w&s d) mev@mden waws)

e) eflenL ezMwesdemen
137.Who was known as the minister of Islamic law during
the period of Delhi Sultans?
a) Diwani-Rasalt b) Sadr-us-Suddar
¢) Qazi-ul-Gazar d) Diwan-i-Ariz
e) Answer not known
61L606ll sevgmarill &mevsL L He0 @eveonsl FLLSSDaemen
SHEWIDEST eTeNEUTM) SNLILILILLTT?
a) Senef Menevs b) egnsit2_ev g5
C) &nd-2_eo-gnan d) Seuneir-@-Sifsv
e) eflenL ezMwesbemen
138.The famous work “Nu siphr” which was written by
Amir Khusrau also known as .........cccceeeueeee.
a) Nine stars b) Nine skies
¢) Nine planets d) Nine victories
e) Answer not known
SIONT G6HEUTEd IDSLILLL LSDODMD LenLLUILImest BT fui
ET63TLIG) ETHEMETTS GSDSSLD?
a) oetiug BLesSTsaT D) @6iTLg eumehissT
C) @6tug CamenaeT d) eeug OeubmseT
e) eleL asfwelsdenen
139.Who amng the following was called Bihari Mal?
a) Akbar b) Harkha Bhai
¢) Raja Bhar Mal d) Jotha bhai
e) efenL ezMwesbemen
esteuqpid wimt &l DTed eT6TmI HeMIPSHSHLILILLITT?
a) Ssur b) emissTUmL
C) pmegmUMALDMEd d) Gersmumi
e) eleL asfwelsdened
140.Consider the following statements and choose the
correct statement/s
1. Akbar had established an Ibadat Khana (1775), a
hall of worship.
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2. Guru Govind was gifted a plot of land in Amristar,
where the sixth shrine Harmandir sahib was later

built.
a) 1lonly b) 2 only c) 1&2
d) None e) Answer not known
Netreuapld sapmisenen seustllsg flwimer sabnienes / &enerT
G565 BSHSHLD.

1 BUT GUTEHS ST aT6iTm) SHMPSHSLILLL eufium G
FaLGHENS 1975-pldD SHetI® eTDHLIGSS6oTIT.

2. Sfigereded GmEsTabSSTeN eTLOIHS:S Beold
aupmISILLG NeiTemmed Sigl amibpbSisndl aeriu@®D
6-a15| Leollssseoons sULLILLLS].

a) 1wrED b) 2 wrEw c) 1&2

d) gsssemen e) eflewL egfwsfleosneo

141.Inthe medival history the term “mehr” known as

a) Indo persian style of architecture

b) Tax which ws imposed on temple construction.

¢) Money mandatorily paid by groom

d) Un-official military staffs.

e) Answer not known

SevLaae aueoniiled ewndit (Mehr) eretim) SlewpssiurLg

a) BbGsn unpds Lreniufeonen L (BLOT6S &HEn60

b) Gamule sr@wrense 185 dssirL aurflufisod

C) LMMDEMHS SLLMLD SHefébsLILLL LD

d) Syecosmam Smemien LewfwmerTisei

e) eleL asMwesdenen

142.What was the chief exporting centre of muslim during
the Mughal administration?

a) Agra b) Delhi ¢) Marwara

d) Bengal e) Answer not known

paeom [Bieunasdeo LNedTaubLd 61hS HSHILD LDevedledT erHmILDd

QFIISDHSTEO (PSS HHILDNS eflenmiSuig)?

a) Spsom b) aevbedl C) mieurmm

d) emsnemnb e) eflevL egfwsfleoeneo
143.Choose the incorrectly matched pair

a) Battle of Haldighati - 1576

b) Death of Shershah - 1545

c) Battle of Chanderi - 1528

d) Battle of Khanwa - 1529

e) Answer not known

SUDTHLI OLNIBHSW6TeT Benetruleness: SHeworLajuleyLb.

a) awrodsLelGLNT - 1576

b) eegien rewd - 1545 C) &BEGsALGUNT - 1528

d) setreur Guni - 1529 e) eflevL egfwsfleoeneo
144. Assertion (A): In matters of State Shivaji was advised

by a Council of Ministers.

Reason (R): Each minister held independent charge

of his department.

a) Both (A) and (R) are true and(R) is the correct

explanation of (A)
b) Both (A) and (R) are true,but (R) is not the
correctexplanation of (A)

c) (A)istrue, but (R)is false

d) (A)isfalse, but (R)is true

e) Answer not known

Fabml : Sigs upPlw sfeusnurisefed faunellsd Sensgise

SR SHCeOMFMENT QUPHISUIG).

SMIEWID : REUCOEUTTH NWDESFHID Sellssel sHONES

auUTMILIGUDHNNBHSEOTIT.

145.

146.

147.

148.

149.

150.

a) sapm wHID STTEUD @rEUEDL &M LHYID saHm
SNresams FLng efens&Hngl.

b) sepm wHDD sTTETD @rewG s SpewTed FnHH
SNIewigemns Fiwns eflendsefeosmeo.

C) sapm &M Sheomed SHMIEUIID Seum)

d) FaDM| SeUN)] SHEVITEDL HMT6TOID Fifl

e) eflenL egMwesbemen

In the Third Battle of Panipat, Marathas were de-

feated by
a) Afghans b) Britishers ¢) Mughals
d) Rohillas e) Answer not known

epesrpmeug umesflur Gumflesr UG ITSSWITHET WTTTEO
CaMHSIE&SLILILL6DTT ?

a) Spusneflrigsr b) SyrdGeowrisen

C) apseomwiigsT d) emmdeonssed

e) eleL asfwelsdened

The Maratha King became a nonentity and the
Peshwa the virtual ruler from the time of

a) Balaji Vishwanath b) Bajirao |

c) Balaji Bajirao d) Madhavrao |

e) Answer not known

WMHEDLW &HTeosL LSS0 DIMLQUl etTeniledr AHG&mrid
SDDHGID 2 e DWTET SpLAWNenIns GL6QeTES6T
Lommlevrit ?

a) uneoned eflsvaumng b) wpseontd Lmedpmeu

C) umeongd ungdgmey d) ¢pseomb ngeugmey

e) eflenL ezMwesbemen

At the time of Shivaji, the post of ‘Sari-i-Naubat’ was
related with

a) Financialadministration b) Judicial administration
¢) Local administration d) Military administration
e) Answer not known

fargduiehr sreosLLsde ‘srlampetus’ eeraib Ls6
GSEIL65T E\SMLITLEDLILISZ

a) B4 Bieunsb b) B8 Brensb

C) o eemmid BieunsDd d) @oremieu Biteursid

e) eleL asfwesdenen

Anuvrata concept was given by :

a) Jainism b) Hinayana Buddhism

¢) Mahayana Buddism d) None of the above

e) Answer not known

SiYUTSLD eTenID CHMLITG UDMAUILILIL L)

a) &wewnb b) ererwnes Lss wsD

C) wamuner L& LS d) Guhae ageLieameo
e) eleL asfwelsdenen

The Queen of Mantras is

a) Gayathri Mantram b) Yajur Veda Mantram
¢) Upanidathas d) Sambhithas

e) Answer not known

wSrmiseflenr Hrdl ereTiLGaIS)

a) smwsM wkESmbd b) wezsit Geus ESmD

c) 2uBLsbd d) sbafmsser

e) eflenL ezMwesdeneo

Mahabhasya - an outstanding work in the fields of
grammar - is a composition by:

a) Ashwins b) Ghosha c) Kakshivat

d) Patanjali e) Answer not known
LDSTUTEQWIT 6T60TLIS Be0&&HMISSNG IWPSLILILL @ HDHs
UL Sig Seunmed GWIHDLUILILLE?

a)  Sisipsfieiteiv b) Ganagr c) sneafeas

d) useEssed e) eevL agfwsfieoeneo
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